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Santa has a few problems!
He has asked the elves to solve them.

36 reindeer treats are put into 6 bags. \
Each bag has the same number of reindeer treats. )

How many reindeer treats are in each bag?

. Santa has 4 bags of cosmic lights. There are 12 lights in each bag.
B How many lights are there in total?

A SantaSuperSleigh MK3 has two compartments to carry presents
and can carry 10 presents in total.

What are the various ways that Santa can split 10 presents between
the two compartments?

A pensioner elf working at a weekend can pack 6 presents on a
Saturday plus half this number on a Sunday.
How many presents can 10 pensioner elves pack over a weekend?

Decorating % of a Christmas tree is equivalent to decorating ¥ of

the Christmas tree! True or False?
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